@) Checking

5. Use the tree diagram you made in step A
on page 408 to calculate each theoretical
probabality.

a) P(Rowyn beside Rishi)
b) P(Rowyn not beside Rishi)

¢) P(either Rowyn or Carina, but not both,
on the outside)

() Practising
6. Suppose that you roll the die and spin the

Lse an organized list 1o determine the
probability of each event.

#) Pi3 and yellow)
b)) FPlanything except 3 and yellow)
) Ploumber = 3 and purple)

7. #) Cocate g tree duagram 1o sl all the
prmedibe (xdeinnes [ imsing thiee coins

W) Wit ps e proabnliny of geuting ome
fwi?

10. Kaycee has won a contesl.
To determine the
amount of her
prize, she musl
spin this spinner
twice. She will
receive the sum
of her two spins.
a) Create a tree

diagram to show
all the possible outcomes.
b) What is the probability that Kaycee will
receive more than the minimum amount
but less than the maximum amount’
¢) What is the probability that Kaycee
will receive more than 33007

11. Anthony, Peter, Francis, and Chnstopber
are in a race. The first three to finish w1l
receive ribbons. Which is more probabi
that both Anthony and Peter will recens
ribbons, or that Peter will fimsh ahead
Francis and Christopher”!

C] Extending

12. Deannug and Carol are playing a gas
They roll o die twice and adkl the

they roll, A sum of 3 soaies a s

B What is the praubabuliny of i
il aN!
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